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o B TRE(C) |mExgnrase| ZRCEO-() | #E
I EREBNZOE
1. BEFEBRA
OARE&IA 600,000 600,000 0
S&IA 600,000 600,000 0
O=BIA 19,250,000 19,000,000 250,000
ESBREINA 19,000,000 18,900,000 100,000
Bh=BRBENA 250,000 100,000 150,000
@EHIA 2,000,000 2,000,000 0
TARTEES-EEE BN 2,000,000 2,000,000 0
DA 540,000 370,000 170,000
HENA (ZBFIRETe) 500,000 300,000 200,000
JRERHIA 40,000 70,000 A 30,000
BREBHNAG(A) 22,390,000 21,970,000 420,000
2. HEEBE)H

OFEHEZH 13,080,000 14,170,000 A 1,090,000
Fapb Y 4,180,000 3,840,000 340,000

Er A2 650,000 650,000 0
EEe 900,000 880,000 20,000
WEERE= 200,000 300,000 A 100,000

R - R EWERRR 2,000,000 2,700,000 A 700,000
EEHERER 500,000 1,000,000 A 500,000
BihZBE= 1,300,000 1,300,000 0
WEZER 2,000,000 2,000,000 0
KEXKREAR 1,000,000 1,000,000 0
mEEES 250,000 300,000 A 50,000
BEVATLAEEEES 100,000 200,000 A 100,000

# H FEFEC) |mexsnTEEE| EZR(A)-(3) e
OFHEXTH 11,440,000 11,210,000 230,000
1% B R 60,000 60,000 0
EEFEY 3,430,000 3,350,000 80,000
B AR 600,000 600,000 0
1={iva 1,500,000 1,500,000 0
SR E 250,000 250,000]. 0
BB -HERE 1,500,000 1,500,000 0
HEESELE GERRS 2,500,000 2,500,000 0
B 200,000| 150,000 50,000
REREE 100,000 100,000 0
BIEERE 300,000 300,000 0
THEELE 200,000 100,000 100,000
Fl A 100,000 100,000 0
Ltk 100,000 100,000 0
Bt ¢ 100,000 100,000 0
M 300,000 300,000 0
FBLAGR 100,000 100,000 0
(2 , 100,000 100,000 0
BHERBZHEH (B) 24,520,000 25,380,000 A 860,000
BEEBINZZEHA)-(B) A 2,130,000 A 3,410,000 1,280,000
I FHEFRBNNZOE
1. BEFEEBRA
Z O EEEEREIA 500,000 500,000 0
IREEAS 55| U TRES BN A 0 0 0
BB R S TR BRI 500,000 500,000 0
BEIEBIRAG (C) 500,000 500,000 0
2. BEEEIXH

O EEEREH 2,000,000 1,000,000 1,000,000
BN FERAEEESBAIN 1,000,000 500,000 500,000
BTG 55 Y FRERASH 1,000,000 500,000 500,000
@FDiEEEEREXH 30,000 30,000 0
A BRI FE L TR Y 30,000 30,000 0
BEEE X HEH (D) 2,030,000 1,030,000 1,000,000

m FiEgE ,
FlEE 5,399,867 4,278,183 1,121,684
TFHE X e (E) 5,399,867 4,278,183 1,121,684
WHAIRAEE (G) =(A)+(C) 22,890,000 22,470,000 420,000
YHIZHEE (H) = (B)+(D)+(E) 31,949,867 30,688,183 1,261,684
WUHAN R ZH (D) = (G)-(H) A 9,059,867 A 8,218,183 A\ 841,684
BRI R 2240 () 9,059,867 8,218,183 841,684
TR 28 (K) = )+ () 0 0 0
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TIAFERENTEE (ERMPEMEEHE—X)

SF4FEAALADRFISE3ASLIAET BAT:
B B WERE () |aeEsorasEe | #EE ) — (1)
I —RIEBRR EEHE RO
1. BHEEROE
(1) BH IR
OZBMARE 600,000 600,000 0
AS@IA 600,000 600,000 0
OB 19,250,000 19,000,000 250,000
E=BaRIA 19,000,000 18,900,000 100,000
Bh=BSBIA 250,000 100,000 150,000
QF: = 2,000,000 2,000,000 0
TARBHES EFEIBEINA 2,000,000 2,000,000 0
@Znfh 540,000 370,000 170,000
HERA (ZBREE ) 500,000 300,000 200,000
JREBHA 40,000 70,000 A\ 30,000
R IR BT 22,390,000 21,970,000 420,000
Q)R¥EEA

OExR 13,080,000 14,170,000 A 1,090,000
fartFY 4,180,000 3,840,000 340,000
BREAR 650,000 650,000 0
B 900,000 880,000 20,000
B EE 1,600,000 1,850,000 A 250,000
WIS EME 275,000 570,000 A 295,000
THFERE 775,000 500,000 275,000
ERISA 2 2,740,000 3,620,000 /\ 880,000
IR % 360,000 310,000 50,000
At 70,000 170,000 A\ 100,000
XihAHEE 180,000 480,000 A\ 300,000
EitH 450,000 450,000 0
SHE 745,000 600,000 145,000
et 155,000 250,000 A 95,000

# WERE(f)  |arEEsnTREaE | i) — (7)
QOEHE 11,440,000 11,210,000 230,000
GI=EL 60,000 60,000 0
faEhFEY 3,430,000 3,350,000 80,000
BN EAEE 600,000 600,000 0
EER 1,500,000 1,500,000 0
FeBAEHE 250,000 250,000 0
weg-RESE 1,500,000 1,500,000 0
HEAESESE - HRES 2,500,000 2,500,000 0
BHE 200,000 150,000 50,000
i S GiE = 100,000 100,000 0
EEERE 300,000 300,000 0
HFEE 200,000 100,000 100,000
ENHIL N = 100,000 100,000
Eit#E 100,000 100,000 0
BN 100,000 100,000 0
MeE 300,000 300,000 0
FLBLARR 100,000 100,000 0
g 100,000 100,000 0
REREMAGH 24,520,000 25,380,000 A 860,000
2 M I AR A 2,130,000 A 3,410,000 1,280,000
2. BEIHEBOE
(1) & H ML
BRHE-5-5 ] 4 S BRI 0 0 0
B S TR IR A 500,000 500,000 0
R SN AR B 500,000 500,000 0
Q)BENER
y-INAE SR = LR YN 1,000,000 500,000 500,000
BTG 55| X e NEH 1,000,000 500,000 500,000
MR (B E G EERER) 0 0
SR R 2,000,000 1,000,000 1,000,000
IR SRR A 1,500,000 A 500,000f A 1,000,000
Y — R IEBR B PE AR A 3,630,000 A 3,910,000 280,000
—RERMESNERE 20,885,313| 20,043,235 842,078
— AR IEBR EEHI R IR 17,255,313 16,133,235 1,122,078
I ERMEHEES 17,255,313 16,133,235 1,122,078
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